
AP ECONOMICS  CHAPTER 2 STUDY GUIDE TB2

1.
The basic economic problem is the combined existence of: 

A)
inflation and unemployment. 

B)
economic freedom and income equality. 

C)
scarce economic resources and unlimited economic wants. 

D)
growing populations and the depletion of natural resources. 

2.
In every economic system, choices must be made because resources are: 

A)
infinite, but economic wants are finite. 

B)
finite, but economic wants are insatiable. 

C)
unlimited, but economic wants are limited. 

D)
limited, and so are economic wants. 

3.
Economic resources in the capitalist system are brought together by: 

A)
government units.  


B)
entrepreneurs. 

C)
corporate shareholders.

D)
the managerial elite. 

4.
The role of the entrepreneur in society is to: 

A)
bring the factors of production together and take the risks of producing. 

B)
provide capital to the firm which the management combines with labor. 

C)
control the land upon which all production takes place to get the most rent. 

D)
work with other elected officials to determine what goods are produced. 

5.
When an economy achieves both allocative and productive efficiency, it implies that there is: 

A)
income equality.    B)  price stability.    C)  full production.    D)  fixed technology. 

6.
With productive efficiency:

A)
the state of technology, or methods used to produce output, constantly change.

B)
the available supplies of factors of production are variable in quantity and quality.

C)
there is production of any particular mix of goods and services in the least costly way.

D)
there is production of that particular mix of goods and services most wanted by society.

7.
Society wants to use its scarce resources efficiently. To achieve this economic goal it must: 

A)
have full employment and full production. 

B)
have a fixed resource base and fixed technology. 

C)
expand the use of capital goods and reduce the use of labor. 

D)
increase the rental, interest, wage, and profit payments to the factors of production.

8.
Which is one of the four simplifying assumptions made in the chapter about the construction of the production possibilities model?

A)
The state of technology is constantly changing.

B)
The number of products produced is more than two.

C)
The economy is fully employed and is using least-cost methods of production.

D)
The quantities of all resources available to the economy are not fixed, but are variable.

9.
The production possibilities curve represents: 

A)
the maximum amount of labor and capital available for production. 

B)
combinations of goods and services among which consumers are indifferent. 

C)
maximum combinations of products available with fixed resources and technology. 

D)
the maximum rate of growth of capital and labor in an economy. 
(The following economy produces two products.)
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10.
Refer to the above table.  A change from possibility C to B means that:

A)
1 unit of steel is given up to get 75 units of wheat.

B)
2 units of steel are given up to get 75 units of wheat.

C)
1 unit of steel is given up to get 15 more units of wheat.

D)
2 units of steel are given up to get 15 more units of wheat.

11.
Refer to the above table.  In moving from possibility C to D, the cost of a unit of steel in terms of a unit of wheat is:

A)
10.   B)  20.   C)  25.   D)  30.

12.
Refer to the above table.  A change from possibility B to C means that:

A)
10 units of wheat are given up to get one more unit of steel.

B)
15 units of wheat are given up to get one more unit of steel.

C)
15 units of wheat are equal to one unit of steel.

D)
75 units of wheat are equal to one unit of steel.

13.
Refer to the above table.  In moving from possibility A to F, the cost of a unit of steel in terms of a unit of wheat:

A)
increases.

B)
decreases.

C)
remains constant.

D)
increases from A to B, and decreases from B to F.

14.
A point inside the production possibilities curve is:

A)
attainable and the economy is efficient.

B)
attainable, but the economy is inefficient.

C)
unattainable, but the economy is inefficient.

D)
unattainable and the economy is efficient.

15.
If an economy is operating at a point inside the production possibilities curve, it indicates that: 

A)
society's resources are being poorly utilized. 

B)
the production decisions are made by government. 

C)
unlimited resources must satisfy scarce desires of people. 

D)
there is a scarcity of resources relative to human wants. 

16.
If a production possibilities boundary is a concave curve and not a straight line, then: 

A)
resources are equally suited to producing alternative products. 

B)
resources are not equally suited to producing alternative products. 

C)
resources are perfectly interchangeable to alternative uses. 

D)
there are unemployed resources. 

17.
If economic resources are perfectly shiftable between the two products shown on a production possibilities graph: 

A)
the economy will always be at full employment. 

B)
more of one product can be produced without producing less of the other product. 

C)
the production possibilities curve would be a straight line. 

D)
the two products are of equal value to the economy. 
The production possibilities curve below shows the hypothetical relationship between the production of capital goods and consumer goods in an economy.
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18.
What is the total opportunity cost of producing the third unit of capital goods?

A)
6 units of consumer goods


B)
7 units of consumer goods

C)
15 units of consumer goods

D)
22 units of consumer goods

19.
The law of increasing opportunity cost explains why the shape of the production possibilities curve is:

A)
a straight line parallel to the horizontal axis.

B)
a straight line from one axis to the other.

C)
bowed out from the origin of the graph.

D)
bowed toward the origin of the graph.

20.
Which statement is an economic rationale for the law of increasing opportunity cost?

A)
The economy is employing all of its available resources.

B)
Many economic resources are better at producing one product than another.

C)
In any economy, the state of technology is changing and resources are variable.

D)
The economy is achieving productive efficiency by producing goods and services at the least cost.

21.
The reason that the production possibilities curve bows outward from the origin is that: 

A)
opportunity costs are increasing. 

B)
opportunity costs are decreasing.

C)
there are no opportunity costs. 
 
D)
opportunity costs are constant. 

22.
Opportunity cost is best defined as: 

A)
marginal cost minus marginal benefit. 

B)
the time spent on an economic activity. 

C)
the value of the best foregone alternative. 

D)
the money cost of an economic decision. 

23.
Tammie makes $150 a day as a bank clerk. She takes off two days of work without pay to fly to another city to attend the concert of her favorite music group. The cost of transportation for the trip is $250. The cost of the concert ticket is $50. The opportunity cost of Tammie's trip to the concert is: 

A)
$300.    B)  $450.    C)  $500.    D)  $600. 

24.
Allocative efficiency means that: 

A)
the law of increasing opportunity costs has reached a maximum. 

B)
the least costly methods are being used to produce a product. 

C)
resources are being devoted to the production of products most desired by society. 

D)
the amount of other products which must be sacrificed to obtain production of a given product is at a minimum.

25.
The overallocation of resources by society to the production of a product means that the:

A)
marginal benefit is greater than the marginal cost.

B)
marginal cost is greater than the marginal benefit.

C)
entrepreneurs are making too much profit in the economy.

D)
workers are not being paid adequate wages and salaries.

26.
When a society underallocates resources to the production of a good or service, it indicates that the: 

A)
marginal benefit is greater than the marginal cost. 

B)
marginal benefit is less than the marginal cost. 

C)
opportunity cost of production is increasing. 

D)
consumption of the product is decreasing. 
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27.
Refer to the above production possibilities curves. Curve (a) is the current curve for the economy. Given production possibilities curve (a), point N suggests that the economy is: 

A)
attaining full employment but not full production. 

B)
attaining full production but not full employment. 

C)
using its available resources inefficiently. 

D)
attaining both full employment and full production. 

28.
Refer to the above production posibilities curves. Curve (a) is the current curve for the economy. Given production possibilities curve (a), the combination of capital and consumer goods indicated by point L: 

A)
would entail substantial unemployment. 

B)
would entail an inefficient use of society's resources. 

C)
is beyond the productive capacity of this society. 

D)
suggests the productive capacity of the system is declining. 

29.
Suppose there are two economies, Xenon and Yantel, which have the same production possibilities curves and are on the same point on each curve. If Xenon then decides to devote more resources to investment goods relative to consumer goods compared to Yantel, then we would most likely expect: 

A)
Xenon to realize a greater shift outward in its future production possibilities curve compared to the shift for Yantel. 

B)
Yantel to realize a greater shift outward in its future production possibilities curve compared to the shift for Xenon. 

C)
Yantel to increase its current production of consumer goods and its current production possibilities curve to shift inward. 

D)
there would be no shift in the current or future production possibilities curve for Xenon or Yantel; there would only be a difference in the current composition of national output between consumer and investment goods. 

30.
Cuba is a command economy that suffered decline in economic growth because of a cut in support from the former Soviet Union when it collapsed.  As a consequence, Cuba:

A)
experienced a shift outward in its production possibilities curve.

B)
experienced a shift inward in its production possibilities curve.

C)
moved along its existing production possibilities curve.

D)
went to a point inside its production possibilities curve.

31.
The private ownership of property resources and use of prices to direct and coordinate economic activity is characteristic of:

A)
a command system.   B)  a market system.   

C)  communism.   D)  socialism.

32.
In a capitalistic economy: 

A)
consumers can never be sovereign. 

B)
markets can never be competitive. 

C)
there is a reliance on the market system.

D)
the government owns the means of production. 

33.
In the circular flow model, households:

A)
buy products and resources.



B)
sell products and resources.

C)
buy products and sell resources.

D)
sell products and buy resources.

34.
The simple circular flow model shows that workers, entrepreneurs, and the owners of land and capital offer their services through: 

A)
product markets. 


B)
resource markets.

C)
employment agencies.
 
D)
business firms. 

35.
Markets in which firms sell their output of goods and services are called: 

A)
resource markets.  


B)
product markets. 

C)
command markets.

D)
mixed markets. 

36.
The money income of households consists of the sum of: 

A)
wages plus salaries.

B)
consumption expenditures plus profits. 

C)
wages plus rents plus interest plus profits. 

D)
consumption expenditures plus costs of resources.
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37.
Refer to the above figure. If box A represents businesses and box D represents the product market in this circular flow model, then money flow in the model would be represented by: 

A)
(1), (2), (3), and (4).  


B)
(5), (6), (7), and (8). 

C)
(1), (3), (6), and (8).

D)
(7), (5), (4), and (2). 

38.
Refer to the above figure. If you know that flow (8) is revenues and flow (4) is economic resources (land, labor, capital, and entrepreneurial ability), then box: 

A)
A is the resource market and box B is the product market. 

B)
B is the resource market and box A is the product market. 

C)
C is the product market and box B is the resource market. 

D)
D is the product market and box B is the resource market. 

39.
Assume that rents flow clockwise in a circular economic flow diagram. This implies that land flows: 

A)
clockwise and capital flows counterclockwise. 

B)
clockwise and profits flow counterclockwise. 

C)
counterclockwise and capital flows clockwise. 

D)
counterclockwise and profits flow clockwise. 

40.
If goods and services flow clockwise in a circular economic flow diagram, then consumption expenditures flow: 

A)
clockwise and revenues flow clockwise. 

B)
clockwise and revenues flow counterclockwise. 

C)
counterclockwise and revenues flow clockwise. 

D)
counterclockwise and revenues flow counterclockwise. 
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